Kit contains:

« Extra Large High Flow Cooler * 4 Cable Ties

* Cooler Mounting Bracket + 2 Bols M8x1.25

* 1.5m 3/8 Cooler Hose * 5 Fixed Washer Bolts M6 x 20
« 1.5m Conduit * 3 Flat Washers M6x13

* 4 Cooler Hose Clamps * Instructions



CO MASTER VBAHH (ACE0) Transmissions
V4A51, V5A51 & V6AWH (AC60) Transmissions

Remove the grille cover. (Pic 1)

Pic 1

Slide the cooler kit into place on right handside and secure the top (Pic 2 & 3) and bottom
bolts (Pic 4) as shown.

Washers may be required to space bracket on 6-speed models.

Pic 2 Pic 3 Pic 4

Page 2



4§ = = Mitsubishi Triton MN, MR with
) | V4A51, V5A51 & V6AWH (AC60) Transmissions

Route the cooler hose from the bottom of the new cooler to the top of the existing one.
Discard the hose and clamps from the top of the old cooler. (Pie 5)

Pic 5 Pic 6

—— ——o—

Route the cooler hose from the top of the new cooler to the bottom pipe where the old
hose was discarded. Be sure not to leave kinks in the hose and tighten clamps. (Pic 6)

After the installation refill the fluid then carry out a fluid level check (refer to manufacture
procedure and oil specifications) and top up as required.

Run the engine, check all fitting points for leaks and make sure that hoses are not kinked
or squashed.

Replace all covers.

Page 3



